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@ (=5)x (-4) @ (+4) x (-7) ® (-40) = (+5)
@ (-33) = (=3) ® (+52) + (+4)
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@ -34 ® -17 @ -14 ® -3

® -51






10. axb>0,bxc<0,a>cLQdU, S EF 2L A

@D a>0,b>0,¢c>0 @ a>0,b>0,¢c<0

® a>0,b<0,c<0 @ a>0,b<0,,c<0
® a<0,b<0,¢c<0
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14. the % AMATA GulA] Gt e s

@ (-2)*+(-2)2 x (-3) @ (-8%) x (-1)3 + 42 x (+3)
® (=3) + (+1) x 22 @ (-6)% = (-3%) x (+3)



=

oo

T &4 g2 A2

D (=4) x (=5) + (=56) + (+7) = 12
@ (-10)x22+4—(-6) = -4

® 7-(-3)x4-(-10) =29

@ 12+ (-4) + (-2) x 3 = -12

® 3?x4+6-(-8)=14
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Al 729 a, b, ¢ ol Histol A ™-ste A2

® a-b=b-a @ a+b=b=+a
® ax(bxc)=(axb)xc @ (a+b)zc=a=+(b=c)

® ax(b+c)=axb+c
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